AP® CALCULUS BC
2007 SCORING GUIDELINES (Form B)

Question 6 Mcdmn‘A
Let f be the function given by f(x) = 6¢™/3 forall x. j
(a) Find the tusrfiom nonzero terms and the general term for the Taylor series for f about x = 0. - 2
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(b) Let g be the fonction given by g(x) = j f(t) dt. Find the fnst four nonzero terms and the general term for the Taylor

series for g about x = 0. L".h- (ﬂ—.. WW‘Q ‘) nel
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(c) The function h satisfies h(x) = k f"(ax) for all x, where a and k are constants. The Taylor series for & about x =0

is given by
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© f(x)==2"" soh(x)=-2ke™?
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‘ 1:two of 6, —21_.%___—%
3:11: ining
| 1: general term

(-1} missing factor of 6
1 two terms
3: 1 1 : remaining terms

| 1: general term

(1) missing factor of 6

1 : computes k [ ax)
1 : recognizes (x) = &",

3: or
} equates 2 series for h(x)
1 : values fora and k



